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Question Id : 7856743537 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Question Numbers : (1 to 20)

Data Sufficiency
OB 0F DU°§ded

Note:

In questions 1 to 20, a question 15 followed by data in the form of two
statements labelled as (T) and (IT). You must decide whether the data given
m the statements are sufficient to answer the questions. Using the data make
an appropnate choice from (1) to (4) as per the following gumidelines.

{a) Mark choice (1) if the statement (I) alone 15 sufficient to answer the
question, but (IT) does not answer the question.

(b) Mark choice (2) if the statement (II) alone 15 sufficient to answer the
question, but (I) does not answer the question.

(c) Mark choice (3) 1f both the statements (T) and (II) are sufficient to answer
the question, but neither statement alone 1s sufficient.

{d) Mark choice (4) if both the statements (I) and (IT) together are not
sufficient to answer the question, and additional data 15 required.

15006 20 5850 DS DS HF S 0 2.8 Ef:v‘é\ e B0 (7). ()
@ hdpen fe> Bod |Hdciaren é@‘ﬁécﬁ" S sagron. ad s
SHEOTR) ﬁa’:;ﬁ?ﬁo{il RIS [SIITITTEN Lw'égbénj NI,
2B 0% HoTEren ederalr O @l ot T80T, &
AT BB 1Bod PS8 HrEen SHdriod (1) Hod @)
5650 HBeoNA 257720 c;]t::ni)*‘ nferiieleal

(a) 1% Dadrprdo 2@ioddHy Waddo () Srehad
HTEaD0W, (M) T DATTESWS OETS o 237720 (1) ™
8odod.

) D15 Jdrmdo adj0d% L_Ef:]s.::“:.mo ) Srehad
HorHom, (I) B DSFTINS jo8sr B (2) ™
8odod.

(©) D350 Darmdo @B 0% |RaddTren (D) (I 0
HosRshon @oS 2 248 Srar Hoo sEsrs
agn )™ lodod.

(d) (254150 JaArEdo D005 Dadharen () () 0 oo
HTER0 58 @AY GEoio @SR b 2 (@) ™
hlododk.

L
@collegedunlas
India’s largest Student Review Platform

~



Sub questions

Question Number : 1 Question Id : 7856743538 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DO°§eh

Isx>y?
X >y @)eN0T ?

(I) xlED - y15ﬂ

{II} x?E - y?E

Options :
1. % 1
2.9 2
3.% 3

4. % 4

Question Number : 2 Question Id : 7856743539 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 04 D56

L
gcollegedunlaé
India’s largest Student Review Platform



Find the straight line I: ax + by + ¢ = 0.
DOFDD I: ax + by + ¢ = 0 D FDFIID.

(I) [ passes through (1. 1)
(1, 1) ho | 0.

(IT) | crosses x-axis at (2. 0)

x-29g0)) [ . (2, 0) 3Q POBNOA.

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 3 Question Id : 7856743540 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DO°§ed
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7x+8y

What 1s the value of .
Ox—4y

7x+8y

Q308 DN )OES?

Ox—4y

(I} xy=—18
1D

[N

Options :

Question Number : 4 Question Id : 7856743541 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0% DO 56

L
@collegedunlas
India’s largest Student Review Platform



What is the first term of the Arithmetic progression?
0% (3G 'R FNGE D0 A0ed 2

(I) ~ The sum of the first 6 terms of that progression 1s 78.

e (3B S FNAE 6 HTO B0 78,

(II)  The sum of the first 10 terms of the progression is 210.

e (38 & 0SE 10 DT IS0 210.

Options :
1. % 1

2.8 2

3.3

4. % 4

Question Number : 5 Question Id : 7856743542 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DT°§ed
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What 1s the highest value of n such that 2™ divides m?
2" @00 m ) ZPNOTEIENT n TINEY 102 DN DOEb ?

(I) 40 divides m.

m o 40 N0,
(IT) 288 divides m.

m & 288 2NN A.

Options :
1. % 1
2. % 2

3.# 3

4.4 4

Question Number : 6 Question Id : 7856743543 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DT°§ded

What is the area of the AABC ?
AABC O308) 33" 50 0 ?

() AB+BC =17
{1} €A4=5h
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Options :
1. % 1
2. % 2

3.# 3

4.¥ 4

Question Number : 7 Question Id : 7856743544 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DO°§ed

How much will it cost to put a fence around a rectangular field?

A GRS G Zl¢50 THEY F0TT B0INEZ J0eb XS HHAD?

(I)  The ratio of the length and breadth of the rectangular field is 8 : 5.

&3 &0 SAGRITER) . BBON) © XS 85

(II)  The cost of one meter of fence 1s Rs.100.

2,8 1§03 5 P .10,

Options :
1. % 1
2. % 2

3.# 3

4.9 4
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Question Number : 8 Question Id : 7856743545 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OT0E DO°§eh

Is P, the father of Q?
P 955 Q %) 60| ey@

(I) 0 1s a daughter of P.
P 3305}, Sred(d Q.
(IT) P 1s the mother-in-law of R.

R GIng) S P.

Options:

4. % 4

Question Number : 9 Question Id : 7856743546 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Data Sufficiency
DT 0¥ DT°seh

If por= 0048 g°r?pt <0 2

pqr > 0 900N ), ¢°r7p8 <0 6)e0T?

0 r<0
I) q=0

Options :

Question Number : 10 Question Id : 7856743547 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
DT 0% DO 56

L
gcollegedunlas
India’s largest Student Review Platform



What 1s the volume of a cylinder whose height 1s 16 cm?
16 0.20. RO 2,8 AP0 TINEY 1 DOSTEI0 DOeh 2

(I) The cylinder is made of iron.

&3 N0 YN S DOHWAIA.

(I) The diameter of the base 1s 16 cm.

&3 APHO0 257500 16 0.V,

Options :
1. % 1
2.9 2
3. % 3

4, % 4

Question Number : 11 Question Id : 7856743548 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DO°§ed
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In the adjacent figure, what is ZBOC ?

98, 8088) 96308 LBOC e ?

(I) £BAC = 60"
(I) OB=6cm

0B = 6 0.0,

Options :

1.9 1

Question Number : 12 Question Id : 7856743549 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 04 D56
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Ramu and Ravi start a business jomtly. What 1s Ramu’s share out of an annual profit
of Rs.50000,

0%, 52) €0 2,8 5o T 5ol TR, [P008)000. N0eh YOO
0250 G, 50000 €5 T3 aFEF 06 ?

(I) Ravi's mvestment 1s 25% more than Ramu’s mvestment.
0730 DEPDEA §a7) G DENDE 25% 80).5.
(I) Ramu’s mvestment 1s Rs.175000.

0730 V2GS . 175000.

Options :
1.41
2. % 2

3.# 3

Question Number : 13 Question Id : 7856743550 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DT°§ed
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How many gitls are there in that class?
& S31B S 0 0O 2O St

(I) The number of boys in the class is 72.

&3 53K arend Hog 72.
(IT) 12 times number of girls in the class 1s equal to 7 times number of

boys 1n the class.

es SOMD & 2r)EO SO 120ED OO 2eNE HOP;
8 7 DY) HaSTR0,

Options :
1. %1

2. % 2

3.3

4. % 4

Question Number : 14 Question Id : 7856743551 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OT0F DO°§aeh
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What 1s the Median of the data containing a set of observations?

§) DOFOIOD EONS &8 (T 0TI 5B D06 ?

(I)  The Mean of the data 1s 78.

e3 Q0@ 0F0 TNEY NP 5eD0 78,
(I) The Mode of the data 1s 77.

s (O&"0F0 OINS), 2rIVFE0 77.

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 15 Question Id : 7856743552 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DO°§ed
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What 15 the product of 5 positive real numbers which are in the Geometric
Progression?

2,8 18 3G S &) 5 B3 TS DOPIO OO0 Oeh ?

(I) Sum of the 5 numbers 1s 386.
5 05O BNBO 386.

(I) The third term 15 42.
SPC86) D0 42.

Options :
1. % 1
2.9 2
3.% 3

4. % 4

Question Number : 16 Question Id : 7856743553 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DT°§ed
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What day of the week Mr.X birth day comes this year 20237

%2023 & 03615065 X T8y, ) B FB0S @ F23 950067

(I) Last year hus birth day was on Wednesday.
(fed 05368130 @b )3 T2 0T3O,
(I) Mr.X was born in the month of February.

X-03 58 D20 FOS BT,

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 17 Question Id : 7856743554 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OT0F DT°§adeh
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Who 1s the tallest among 4, B, C'?
4,B,C O &GHO S8

(I) B 1s the father of C.
C Q3wE) 0|3 B.
(IT) A 15 the only son of C
C OB0E) B8 YD A.

Options :

4.9 4

Question Number : 18 Question Id : 7856743555 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 04 D56
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Is Mr.X intelligent?
X 0% 358 BOFd>rT?

(I) All doctors are intelligents.
BDO0REr BOZ arh.
(I) Mr.Xis an engineer.

X @3 55 2.8 2020.

Options :

Question Number : 19 Question Id : 7856743556 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
O 0F DT°§eh

L
gcollegedunlas
India’s largest Student Review Platform



What 1s the perimeter of AABC ?
AABC G308} tHeY Sered 0ed?

I) AB+BC=14
(I) AB.BC =48

Options :

Question Number : 20 Question Id : 7856743557 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Data Sufficiency
OB 0F DO°§ed
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Who 1s youngest among A, B, C'?
4, B, COS DI SONKNYBIK?

(I) B 1s a brother of C,

C TB0E), FSS B
(IT) A 1s a daughter of B.

B 3308 Soretn Oy A

Options :

4.¥ 4

Sub-Section Number : 2
Sub-Section Id : 785674393
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7856743558 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

QDo A FEN -

(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

AEF . B :: NQR :

(1) OUV
2) OVU
3) UVO
4) VUO

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 22 Question Id : 7856743559 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 gcollegedunias_



Problem Solving

QDo A FEN -

(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

APRIL. : 64 :: JULY -

(1) 248
2) 343
3) 363
4) 412

Options :
1. % 1
2.9¥2
3. % 3

4. % 4

Question Number : 23 Question Id : 7856743560 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 5
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Problem Solving

QDo A FEN -

(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

MANGO : QIPCO :: ORANGE :

(1) GIPCTE
(2) OIPCTE
(3) GIPCTQ
(4) OIPCTQ

Options :
1. % 1

2.8 2
3.3

4, % 4

Question Number : 24 Question Id : 7856743561 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 gﬁo!lgesg?quﬂl,am



Problem Solving

QDo A FEN -

(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

: HDGF :: FILM : ADGH

(1) LINK
(2) BALD
(3) NAME
(4) MILK

Options :
1. % 1
2. % 2

3.# 3

4.¥ 4

Question Number : 25 Question Id : 7856743562 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QDo A FEN -
(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S

000G,
LM : 1213 :; 12123
(1) UKW
(2) URX
3) VW
4 VX
Options :
1.91
2. % 2
3. % 3
4. % 4

Question Number : 26 Question Id : 7856743563 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 gcollegedunias



Problem Solving
QDo A FEN -
(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S

000G,
GKXP : - FLTR : CRQX
(1) CPTU
(2) DQUV
(3) DRVX
(4) CQSZ
Options :
1. % 1
2.9 2
3.% 3
4, % 4

Question Number : 27 Question Id : 7856743564 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

QDo A FEN -

(a) Series L_%E‘&)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

2334.20 :: 547°;

(1) 35
2y 27
3) 29
4) 30

Options :
1. % 1
2. % 2

3. 3

4.¥ 4

Question Number : 28 Question Id : 7856743565 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 gcquegedunlaé



Problem Solving
QDo A FEN -
(a) Series L_%E‘&l)@)

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 HB% O (D)0 (HB TS DO 8O (©5T°0
B ©0Z0°0 HOOHN Do) Dereren 5008, 2.8 BeveS’
EAN0DS OE 0 NFTE BSST re30wrO) ) S0EN0D. €
O§Td) ST HHA0D FTOOD OIS T3S
000G,

14(2) : 30(3) :: 330 (__ ) : 105(3)

2

(1)
(2)
3)
4) 3

oo

Options :
1. % 1
2.9¥ 2
3. % 3

4. % 4

Question Number : 29 Question Id : 7856743566 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator :

: N.A Think Time : N.A Minimum Instruction Time: 0 gﬁo!lesgdecju':'?



Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD FEN-P

(a) Series Lfﬁmﬁl}

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be

followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DN O (HS IS’ DO B (98,07
B> 08070 DO DOWEO) NTTFEN §006Y. 28 8BS’
5000 OF 0 HTE BSS T 30T ) S0EN0D. e
O8T) BT HHA0D FOOD TS T3S
J*O00E.

DRFRH:4Q6®8: 22024 26

(1) URQVEW
(2) VWX
(3) XQYQRZ
(4) VRXKZ

Options :
1. % 1
2. % 2

3. 3

4.¥ 4

Question Number : 30 Question Id : 7856743567 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : M~=~ Prcnanen Tinan

: N.A Think Time : N.A Minimum Instruction Time: 0 .
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Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD FEN-P
(a) Series Lfﬁ?&)m

In the questions 21-30. each contains two pairs of groups (of letters or
letters and numbers). The pattern that appears in one pair should be
followed by the other pair also. Observe the pattern carefully and fill
in the blanks appropriately.

21-30 SGE HO (DN O (HS IS’ DO B (98,07
B> 08070 DO DOWEO) NTTFEN §006Y. 28 8BS’
5000 OF 0 HTE BSS T 30T ) S0EN0D. e
O8T) BT HHA0D FOOD TS T3S
J*O00E.

ABCdef : DEFghi :: PQRstu

(1
(2
(3

) XYZxyz
) YZAyza
STUvwx
(4) TUVtuy

o

Options :
1. % 1

2.8 2

3.3

4, % 4

Sub-Section Number : 3
Sub-Section Id : 785674394
Question Shuffling Allowed : Yes

Is Section Default? : null
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Question Number : 31 Question Id : 7856743568 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo) §EN-2TP

(a) Series L_% £

Note : In questions numbered 31 to 35 pick the odd thing out

B8 @ 31 HOA 35 3% HO (D) OS HOFOIO
HO00THHW.

x24+x+1=0 x2+4x+4=0, x> +6x+9=0,
Pa8x 1 16=0 ¥+ 124 36=02 L 14x 149 =0
(1) a*Extl=0

2) x*+4x+4=0

3) x*+6x+9=0

() x2+4+8x+16=0

Options:

Question Number : 32 Question Id : 7856743569 Question Type : MCQ O .
@collegedunlas

Display Question Number : Yes Is Question Mandatory : No Calculator :



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD FEN-T )

(a) Series L_% A (B

Note : In questions numbered 31 to 35 pick the odd thing out

B8 & 31 OB 35 3% KO (DA OS HOFOIO
HO00THHW.

CROW. PIGEON, HEN. PARROT. KING FISHER

(1) CROW
(2) PIGEON
(3) HEN

(4) PARROT

Options :

Question Number : 33 Question Id : 7856743570 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD EEN-T
(a) Series L_% A (Y

Note : In questions numbered 31 to 35 pick the odd thing out
B8 & 31 OB 35 8% HO (D) 0S HOFOO
HO0THHW.

125 2.3, & 3,5, 1T 5,;7,37; 11, 13, 145; 13, V7. 225; 17, 19, 325

@) 1,23
(2) 2.3,8
(3) 5.7.37
4) 17,19,325

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 34 Question Id : 7856743571 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD EEN-T
(a) Series L_% AN DY

Note : In questions numbered 31 to 35 pick the odd thing out
B8 & 31 OB 35 8% HO (D) 0S HOFOO
HO0THHW.

(3.4.5).(9,40,41). (15, 112, 113), (11, 60, 61), (21, 220, 221), (13. 84, 85),
(11,61, 62)

(b {13,112, 113)
(2) (11,60,61)
(3) (11.61.62)
(4) (21, 220,221)

Options :
1. % 1
2. % 2
3.3

4. % 4

Question Number : 35 Question Id : 7856743572 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Problem Solving

QoD EEN-T

(a) Series L_%E@J("_D

Note : In questions numbered 31 to 35 pick the odd thing out

B8 & 31 OB 35 8% HO (D) 0S HOFOO
HO0THHW.

Lake. Pond. Pool. Tank. Brook. Sump

(1) Lake
(2) Brook
(3) Pond
(4) Tank

Options :
1. % 1
2.9 2
3.% 3

4. % 4

Sub-Section Number : 4
Sub-Section Id : 785674395
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 36 Question Id : 7856743573 Question Type : MCQ O
Display Question Number : Yes Is Question Mandatory : No Calculator : collegedunia:s
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD §EN-TE
(a) Series L_% SAVIDY!

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOGA 45 SO (O (%) 28 P IS
DOHITFY)  TEQTIOD. ©  OHSTFI) B0
HOAHM DATTTOS TrPOX JPO0I0A.

{2 par g
3°3 33
10
1 -
(1) 3
(2) 2
11
3 =
(3) 3
(4) 4
Options :
1. % 1
2.¥ 2
3. % 3
4. % 4

Question Number : 37 Question Id : 7856743574 Question Type : MCQ Option Shufflina : No

Display Question Number : Yes Is Question Mandatory : No Calculator : .
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:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD §EN-TE
(a) Series L_% SAVIDY!

Note : Each of the questions from 36 to 45 follows a definite pattern.
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOGA 45 SO (O (%) 28 P IS
QONATPAY  FENTIoW. 8 AOPITFD)  HDA0D)
HOAHM DATTTOS TrPOX JPO0I0A.

196. 16. 144. 36. . 04, 64, 100, 36. 144
AR
(2) 86
3) 94
(4) 100
Options :
1. % 1
2. % 2
3.3
4.¥ 4

Question Number : 38 Question Id : 7856743575 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

250,1662,125.100,83%, B9

3
(1) ?1?
1
(2) '?3§

752
(3) 753

) 765
7

Options:

1.9 1

2. % 2

3.% 3

4. % 4

Question Number : 39 Question Id : 7856743576 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

0. 6,24, 60, 120, 210, . 304, 720
(1) 280
(2) 292
(3) 336
4 372
Options :
1. % 1
2.8 2
3.¥ 3
4, % 4

Question Number : 40 Question Id : 7856743577 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

9,25,49,121, 169, , 361
(1) 289
2) 194
(3) 285
(4) 296
Options:
1.9 1
2. % 2
3. % 3
4. % 4

Question Number : 41 Question Id : 7856743578 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

5 3 -2 -11 -9 -25
T g s

1 13

@) -16

3 15

(4) -18

Options :
1. % 1

2.9¥2

4. % 4

Question Number : 42 Question Id : 7856743579 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0 gﬁ?”f??i‘”ﬂ'i



Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

2187, =729.243 <81 e e |

(1) 36
2) 27

3) -36
4) —27

Options :
1. % 1
2.9¥ 2
3.% 3

4. % 4

Question Number : 43 Question Id : 7856743580 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

6, 24, 60, 120, 210, , 504, 720
(1) 294
(2) 316
(3) 320
(4) 336
Options:
1. % 1
2. % 2
3.% 3
4.4 4

Question Number : 44 Question Id : 7856743581 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

3ais23s 640
Patat gatiiy 3yt " 65”41
24
(1) 3
31
2] =2
42
(3) 43
56
(4) 57

Options:
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 45 Question Id : 7856743582 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN-TTPE
(a) Series L_% AV

Note : Each of the questions from 36 to 45 follows a definite pattern,
observe the same and fill in the blanks with suitable ones.

(o008 : 36 DOG 45 SO (1O (%) 28 PWISID
DOHIFD)  FEYTIOD. © DOHITFI) K00
HOGHM NATTTOS TPOX J*O0I0A.

5,711, 19,35, 131, 259513

(1) 67
2) 82
3) 9
4) 120

Options:
1.9 1
2. % 2
3. % 3

4. % 4

Sub-Section Number : 5
Sub-Section Id : 785674396
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743583 Question Type : COMPREHENSION Sub Questit

Yes Group Comprehension Questions : No Question Pattern Type : Nonl| gcollegedunias



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (46 to 48)
Problem Solving

QoD EEN-T D

(b) Data Analysis
ST 0% BN

The graph below shows the exports of a metal by a company in the months January
to June (in thousand fons). Based on the information answer the questions 46 to 48.

1300 Bgr A0 2350 08 27S IO 2.8 509 Fa Siro
DSOS AFAN0O. (3O ) 0) . & S&050 SO
134 €0 46600 483050 AeIPEI0 B 0.

120

110
110

100
100

90

50 90
&0
&0
0
70
60
Janauary February March . Agril May June
20 20 0y 2O D Gy

Sub questions

Question Number : 46 Question Id : 7856743584 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : ™° = -

:N.A Think Time : N.A Minimum Instruction Time: 0 .
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Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN EEN-T D

(b) Data Analysis
S&0% DINED

The percentage increase in the exports i the month of May over the month of January
1S

23350 §T7) D FOS’ JDSHSOS DDHES F¢0

36

1
o ¥

Question Number : 47 Question Id : 7856743585 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

The percentage of decrease in exports in March compared to the February month is

S0 TOS FOR, 570) TOS' DK SIHAO Té50

Question Number : 48 Question Id : 7856743586 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-

(b) Data Analysis
ST 0% DBNED

The average exports per month ( in thousand tons) n the given period is

269 503 T0 O TOH HTHO (D) DR (FO
O8O

(1) 90

Sub-Section Number : 6
Sub-Section Id : 785674397
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743587 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time

Question Numbers : (49 to 51) @collegeduniag



Problem Solving

QoD EEN-T

(b) Data Analysis
ST 0% BN

The budget allocation of a civic corporation in a year under 5 major heads A, B, C, D
and E are depicted in the Pie chart. Based on the data answer the questions 49 to 51.

2,558 051506 28 HBTOE 00 ThE) FQE TS S, 5 Hzd
He A, B, C, D HOOM E ©F) M Seranoedd do0H00
HSPTPE0 @ V(B0 LR, & SF0F0 esTEOM 49 HOB 51 H3K
(10 [D8) ©8) QeI O0;.

sA?  «B 60" oC B2 D72 «E7F

Sub questions

Question Number : 49 Question Id : 7856743588 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

If the budget allocation under D 1s Rs.150 crores, what 1s the total budget of the
corporation (in crores of rupees) ?

236 & D§ Seranosy &F. 150 §E eond, HSTOF H0N0 Jeo
236 (56 67.06) D0 ?

(1) 1250
(2) 1000
(3) 900
(4) 750

Options :
1. % 1
2. % 2

3.# 3

4.4 4

Question Number : 50 Question Id : 7856743589 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

Out of the total budget what is the percentage of the budget allocated to the heads B
and E together?

w0 aBE S os TS0 B HOOM E H0O (806
ELAROWONENMVOWNAY,

[ 7
375

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 51 Question Id : 7856743590 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-

(b) Data Analysis
ST 0% DBNED

Which head recetves ith of the total budget?

2 ) 0SB0 TE S'465 506 FPONR0A?

(1) B

(2) A

3) €

4 D
Options :
1. % 1
2.¥ 2
3. 3
4, % 4
Sub-Section Number : 7
Sub-Section Id : 785674398
Question Shuffling Allowed : No
Is Section Default? : null

Question Id : 7856743591 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time ~

Question Numbers : (52 to 55) &collegedunias



Problem Solving

QoD EEN-T

(b) Data Analysis
ST 0% BN

In the Venn-diagram the sets U, A, B and C are defined as follows:

v
g ; /,/'- -‘:xi.r T \\ I&'
||f 0 /g j E H'.
U= {x|xis anatural number and x <30} | | Ul
A= {x|x€Uand x isodd} N LA g7
B={x|x€Uand xis even } K\ E '
C={x|x € Uand x is multiple of 3 } Ne ol fc

Based on this data answer the questions 52 to 55

2 IS AS0S U, A, B .C e (806 A0 DB s 0.
U= {x]xis 25 Qor2 0§ DO x < 30}

A= {x]x €U D00 x B DoPs)

B={x|x € UshOAM xis 00 Q0Y; }

C={x|x € USH00 x A 3 O0E), 2.8 Hedzein )

B8 P00 SO 52 D0G 55 5050 0 4) OF) DI Frean;.

Sub questions

Question Number : 52 Question Id : 7856743592 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving

DD SEN-

(b) Data Analysis
ST 0% BN

In the Venn diagram which are the null sets ?

IR DSOS &) HANERNEN AT DEIEN?

(1) Gonly G (b

(2)  Tonly ] 3¢5

(3)  GuJonly GUI S35 €h o)
4) GUJUFonly GUIUF o3°(¢bo0)

Options:
1. %1
2. % 2

3.# 3

4.4 4

Question Number : 53 Question Id : 7856743593 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD EEN-T D

(b) Data Analysis
S&0% DINED
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Which of the following sets have equal number of elements ?

506 FES & AN DTS H0PS SrOTOD QN GOEFoN?

() LH
2) D.H
3) LE
(4) EF

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 54 Question Id : 7856743594 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN EEN-T D

(b) Data Analysis
S&0% DINED
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If n(X) denotes the number of elements in the set X, then n(DUE UF) =

n(X) ©TO ADA X SR IPOTO HOPD SPA R, n(DUEUF) =

1) 10
@) 20
(3) 25
4) 30

Options :

Question Number : 55 Question Id : 7856743595 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

QoD EEN-T D

(b) Data Analysis
S&0% DINED
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If n(X) denotes the number of elements in X, then n(U —(AucC )) =
n(X) ©F0 DS X SR SIPOTO H0PH AW . (U - (AU C)) =

() 0
@ 5
(3) 10

Sub-Section Number : 8
Sub-Section Id : 785674399
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 7856743596 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (56 to 60)

Problem Solving
QoA FEN-TD

(¢) Coding and Decoding Problems

§B00, B5B00 SO

L
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The letters of English alphabet are coded as follows:
(1)  Furst 13 letters A. B, C. D, ... , M are to be coded respectively to M. L. K. J,
.. A (m reverse order).
(1) Remaining 13 letters N, O, P, Q. ... . Z are to be coded respectively to Z, Y,
X, W, .... N (in reverse order ) .
(1) For decoding the reverse process has to be followed.

Based on this data answer the questions 56 to 60.

0(] 53570 ' 9§ T 1§06 BOV VG0 58 TOHEHSE.
() JGS1398TBIA.B,C.D,... MOD SOITM,LKT, ... A
(5T (8008 m &6 300
(ii) @Ed)ﬁ“@fﬁ 13980°8d N,0,P,Q, ....Z 0O JONTZ Y. X, W, ...,
N (535308 (5006 ) P & Towre).
(i) & 5BONTEL DT HOS ©0HO0TE).

B8 ArT B0 STPEOTT 56 D0EG 60 HEH 0 %) O AIFTD 0],

Sub questions

Question Number : 56 Question Id : 7856743597 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDo §EN-T

(¢) Coding and Decoding Problems

500, AR JsNOseN
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What 1s the code for MARKETING?
MARKETING 570)¢300 G308, 56 OG0 2O?

(1) AMVCITEZG
(2) ANWDIUCZG
(3) AMUCITBYG
(4) ARXEISCVG

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 57 Question Id : 7856743598 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo LEN-TP

(¢) Coding and Decoding Problems

300, AR HsDsED
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What 1s the code for word CONSUMER ?
CONSUMER %) §6 3¢50 06?

(1) KZYVTSBE
(2) KYZUSAIV
(3) KXUZTBVI
(4) KUZXBVTE

Options :
1. % 1
2.9 2
3.% 3

4. % 4

Question Number : 58 Question Id : 7856743599 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoA FEN-TD

(¢) Coding and Decoding Problems

5§00, AFAON DND5EN
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What 1s the code word for BUSINESS ?

BUSINESS %0 §6 950 0O?

(1)
(2)
(3)
(4)

MTWDAIXX
LSVEZIVV
LSUEZIUU
MTVDAIYY

Options:

1. % 1

2.1 2

3.3

4, % 4

Question Number : 59 Question Id : 7856743600 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving

QDo §EN-T

(¢) Coding and Decoding Problems

500, AR JsNOseN

L
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What are the letters that remained unchanged (left invariant) after the coding?

2 98 00 & FA0R HOBS’ 7850 MHOFSE?
(1) AZ

2) MN

Options :
1. % 1
2. % 2

3.# 3

4. 4

Question Number : 60 Question Id : 7856743601 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving

Qo LEN-TP

(¢) Coding and Decoding Problems

300, AR HsDsED

L
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Which word 1s coded as THUMHE ?

&) D0 THUMHE 1 §6 D0HDAHO?

(1) TFASIF

(2) TFASIA

(3) TFSAF]

(4) TFSAFI
Options
1. % 1
2. % 2
3.% 3
4.¥ 4
Sub-Section Number : 9
Sub-Section Id : 785674400
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 61 Question Id : 7856743602 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo §EN-T

(¢) Coding and Decoding Problems

§A0R, AEA0R HsND5eN

L
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Using the coding and decoding process answer the questions from 61 to 65.

QDAY PG00 SO0 61 HOG 65 SO0 e (F)ON
NNV ARNINW

If VIRUS is coded as UHQTR then the code for MASK is

VIRUS ¢ UHQTR 1™ §G D). MASK & §6

(1) LZRIJ
(2) LRZI
(3) LIRZ
(4) LZR

Options:
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 62 Question Id : 7856743603 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QDN FEN-TS

(¢) Coding and Decoding Problems

50N, AFAOR DaNOLEN

Using the coding and decoding process answer the questions from 61 to 65.

QISABN  NIFFE0 IO 61 HOG 65 HOH e () O%
NNARNINW

The PINK 1s coded as JQLO then BLUE is coded as
PINK &0 JQLO I §6 B0 @8 §& ¢ BLUE 008,56
(1) XNUE
(2) XNEU
(3) XUNE
(4) XEUN

Options :
1. % 1
2.9 2
3.% 3

4, % 4

Question Number : 63 Question Id : 7856743604 Question Type : MCQ Option Shufflina : No
Display Question Number : Yes Is Question Mandatory : No Calculator : .
gcollegedunla

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Problem Solving

Qo LEN-TP

(¢) Coding and Decoding Problems
300, AR HsDsED

Using the coding and decoding process answer the questions from 61 to 63,

QAN AP0 SFEomr 61 HOG 65 SO e (HFO%
NNARNINWI

In a code language 1f TRAIN is coded as UQBHO. then PLACE is coded 1n that
language as

2,8 86 H02r0S TRAIN & UQBHO T §6 D), & 5027 PLACE
a0E), 56 D0

(1
2
3
4

QKBAD
OMBDF
) OKAZH
) QKBBF

)
)

Options :
1. % 1

2.8 2

3. % 3 .
collegedunia:s
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4.4 4

Question Number : 64 Question Id : 7856743605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

QDN LEN-TP D

(¢) Coding and Decoding Problems

5300, AR HsND5EN

Using the coding and decoding process answer the questions from 61 to 65,

QABD  NIFIFG0 SO 61 HOG 65 SO e (%)%
NAARNINW)

REJECTION is coded as SGMIHZPWW then 1 the same code language the word
MECHANIC 1s coded as

REJECTION ®3 H@'a)) SGMIHZPWW T §& D0, of §& &
MECHANIC % §& 050

(1) NGFLFTPK
(2) NGPLFTPK
(3) NGEKFTPK
(4) NGPTPKIL

Options:

‘.\{; L
1,41 gcollegedunlaa



4. % 4

Question Number : 65 Question Id : 7856743606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Problem Solving

Qo LEN-TP

(¢) Coding and Decoding Problems

300, AR HsDsED

Using the coding and decoding process answer the questions from 61 to 63.

VILABN  VIPTFE0 STIO™ 61 HOG 65 HOF ) (%)%
NNARNINWI

L
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If SWEDEN is coded as 123435 and GLAND is coded as 67854, then the code for
ENGLAND i

SWEDEN o 123435 ), GLAND & 67854 T §6 D0H23&, ENGLAND
BnE) 56

—
[o—

T gt Nl T

3567854
1267854
3267854
1367854

—
[

—
L)

Options :

1.41

Sub-Section Number : 10
Sub-Section Id : 785674401
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 7856743607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems

B0, DNANO, @NOE HNOSEN

Which day falls on 18® August 2022?

18 €3N 2022 & o B0 9)eADO0E?

(1)  Thursday DS
(2)  Tuesday NONFIG0
(3)  Wednesday 20080
(4)  Friday DB G0

Options :

1.1

2. % 2

3. % 3

4. % 4

Question Number : 67 Question Id : 7856743608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L
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Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems

B0, DNANO, @NOE HNOSEN

What 15 the angle between the hour hand and minute hand n the wall clock when the
time shown im the clock 1s 8.25 am?

D00 GAHO 10.825 .0 ONNYED, H0LO NV, HOAI
QDT MV EIE §E0 0e?

(1) 98°

(2) 100.5°
(3) 1025
(4) 115

Options:
1. % 1
2. % 2
3.3

4. % 4

Question Number : 68 Question Id : 7856743609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems

B0, DNANO, @NOE HNOSEN

The time between 9 O’clock and 10 O’clock at which both hands of a clock are
together is

9 0EIE SO0 10 K0LO schs HACKTE0ES DO sNery 282503
NIONe!
() 491—11111111.past 9 0'clock
1
A9 —al.C
9110.49 i Q.0
) 4Bimin.past 90'clock
2
9 110.48 — Q. &0
11

(3) 50 min.past 9 0'clock
9 110.500. €0

(4) 45min.ast 9 0'clock
9 110.50Q. &0

Options :
1.4 1
2. % 2
3.% 3

4. % 4

Question Number : 69 Question Id : 7856743610 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator :

: N.A Think Time : N.A Minimum Instruction Time : 0 gcollegedunias



Correct Marks : 1 Wrong Marks : 0

Problem Solving
QDo) §EN - )

(d) Date. Time and Arrangement Problems

B0, DNANO, @N0E DN

If X 1s mother of Y. Y 15 father of Z and P 1s a sister of Z. then P 1s related to X as

Y 330%), 656 X, Z TB0E) S0 Y SH0050 Z T30%), ¥ P eond X & P

30 fie 2060e8 50

(1) Grand mother — €o32e3)]
(2) Grand daughter DTN
(3) Niece D §eden
(4) Maternalaunt  s0E

Options :
1. % 1
2.¥ 2
3.% 3

4. % 4

Question Number : 70 Question Id : 7856743611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems
B0, DNANO, @NOE HNOSEN

Rita comes to Railway station at 10.20 am and finds that she 1s 40 minutes early. But

the train 15 running 20 minutes late. What 1s the right schedule time of arrival of the
train?

Oer &GAH0 1020 Q. O BT VAR H SVY0O. e 40 . e

€

SVODTH SO BENNTHYO. TA & TeN 20 . &) SOD;OT

[ .

HAN0O. ¢ Te TNE), O AT BT DeHANO

(1) 10.50 am . 10.50
(2
(3
(

)
) 1040 am &. 1040
3)
)

,_1

10.35 am ts. 10.35
10.30 am ¢s. 10.30

Options :
1. % 1

2.9¥ 2

4. % 4

Question Number : 71 Question Id : 7856743612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 gcollegedunias



Problem Solving
QoD §EN - )

(d) Date. Time and Arrangement Problems
B0, DNANO, @NOE HNOSEN

A person starts from the point P at 9.20 am and travelling with a speed of 45 kmph.
he reaches the point Q at 10.40 am. Had he travelled with a speed of 75 kmph
mstead of 45 kmph, the time of arrival at the point Q i

28 568 &O0HO 9208 P OB 2OHNTO (H0eF 458, Vo
DOSTFEIOD) Qi &AHO 10.40 B BB, eedch 10630 45 §.a0. Jifo
2N 75 §.00. FH0S (HAFEIOD GO, Q G THRT NeOHO

(1) ¢.9.56am
0
(
(

5. 10.12 am

)
3) &.10.08 am
)

4) &.10.00 am

Options :
1. % 1
2. % 2
3.¥3

4. % 4

Question Number : 72 Question Id : 7856743613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L
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Problem Solving

QDo FEN-T

(d) Date. Time and Arrangement Problems

B0, DNANO, @NOE HNOSEN

Six members of a family A. B. C, D, E and F are sitting around a table all facing the
centre of the table such that

(1) A 15 directly opposite of B and to the immediate right of C

(i1) E 13 not next to A or F

(111) B 15 to the immediate left of F and immediate right of E;

(iv) D 15 between A and B:

What the order of their seating arrangement starting from A to the right?

2,8 £)800erAS DA 36 RZjeD 2,8 2068 & wodar SociTrd0RorT
$ocs 39 Dorr SOV 6.
(1) C 2000 LDEJePN &) B, A g S Ao &) 6.
(11) A Zobain F ok ;_J,Qajé E &¢o.
(1i1) F & Q& 23 20300 08akw E & 802088 S0ddp® B &:J“lcﬁa.
(Iv) A Sobaiw B e 26( B &) 0.

A& g :Jeg DG, 8 Dhwow RZIRD SrEdNR) S0 Q67

(1) ABCDEF
(2) ACBFED
(3) ACFDEB
(4) ACFBED
Options :
1. % 1

2. % 2 .
collegedunia:s



4.¥ 4

Question Number : 73 Question Id : 7856743614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Problem Solving
QoD $EN -

(d) Date. Time and Arrangement Problems

B0, NN, eD0E DN

. ~b
Let a, b be any two real numbers. If a *b = a® + b,adb = a—b , then

at
(3+4)+(442) =

2. b€ DO T DRI NOOW a+b = a?+b,abb = = @OW8,
(3¢ 4) « (482) =

(1) 508
K]
(2) 307
3
(3) 208
3
(4) 305
3

L
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Options :

Question Number : 74 Question Id : 7856743615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Problem Solving
Qo) §EN -

(d) Date. Time and Arrangement Problems
B0, DNAN0, @NOE HDNDEN

L
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If @ and © are defined by = o+— andvQq=.lpg - —
® and © are defined by p & ¢ ,M,qurlﬁ and p ) q = /pq =

Q@ DO O O p®q= \quJr—[;’D@(_m)p( q——t"))ﬂ"

WAL
(5Q6)+(506) _
(56)-(506)
(1) 30
2y *
30
(3) V30
@ 1
V30
Options :
1.9 1
2. % 2
3. % 3
4. % 4

Question Number : 75 Question Id : 7856743616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L
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Problem Solving

QDo FEN-T

(d) Date. Time and Arrangement Problems

SO, HIDODNO. HOEE HSVDLEN

For positive integers m, n. definem ® n =2m + 3n + 1 and

mOn=m’nthen 3R2)O“4®1) =

G 3 Q DoPs mn O M @ n =2m + 3n + 1 HOAW
mEOn=maT SOV BRDO(AR®1L) =

(1) 1356
(2) 2028
(3) 1014
(4) 1756

Options :
1. % 1
2.¥ 2
3.% 3

4. % 4

Mathematical Ability

SectionId : 78567453

Section Number: 2

Section type : Online

L
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Mandatory or Optional : Mandatory

Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 75

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 785674402
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 76 Question Id : 7856743617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged

Ifa* = bY = ¢* and abc = 1. then -2 =
x+y

a* = bY = c* 00 abc =1 ®ON®, 2 =

x+y

(1) 4
@ 1
4
3) -4
@ -1
4

L
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Options :

Question Number : 77 Question Id : 7856743618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged

275 = gttl— 3¥ fhen Dy ==

27%+1 — 9x+3 — 3¥ e9ONB. 2x + 3y =

(1) 30
2) 42
3y 36
4 39

Options:

1. % 1

2.9 2

3. % 3

4 % 4 @collegedunias



Question Number : 78 Question Id : 7856743619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mraQ sed

If aab=2:3 andb:c=4:5, then(a+b):(b+c) =

ab=2:3 NO0M b:c=4:5 ®ONS, (a+b):(b+c)=

() 20:27
) 12:2
(3) ®:15
4) 5:9

Options :
1.9 1
2. % 2
3.% 3

4. % 4

Question Number : 79 Question Id : 7856743620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L
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I. Arithmetical Ability
@ 08eded fraQ sed

A vessel contains 100 Litres of mixture of two liquids A and B in the ratio 3 : 1.
How many litres of the liquid B is to be added fo the vessel to make the ratio of
A:Basl:3?

A 00N B &9 DO G570 [THTN 3 1 1 BSOS 100
D& HD (T30 & 2.8 3F(ed SON 0M0A. ) O8I B 680
(TS0 & PSS EON0 SO 0SS WFD (TS0 S A : B
©RO 1:35HON?

Options:
1.9 1
2. % 2
3. % 3

4. % 4

Question Number : 80 Question Id : 7856743621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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I. Arithmetical Ability
@ 08eded fraQ sed

If x=3V3+ v26.thenx2+;—2=

x =3V34+26 eone. x2+xi2:

(1) 106
(2) 33
(3) 108
@ 52

Options :

1.9 1

2. % 2

3.% 3

4, % 4

Question Number : 81 Question Id : 7856743622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
29 08eded PO ged
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J9+2\/_—4v/_—4\@=

D V3++v2-2
() 3-+v2-2
) V3+vV2+42
4) V3-V2+42

Options:

Question Number : 82 Question Id : 7856743623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08 eded fraQ ged
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The remainder when 2°2 is divided by 7 is

292 ) 7064 2PNODINCD 0T 3N0

1) 3
2) 4
3) 5
@ 6

Options :

Question Number : 83 Question Id : 7856743624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged
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The number of all 4-digit numbers divisible by either 12 or 15 13

1283 150 o 2B @) 4 @036 S0P DOYS

(1) 1350
2) 1300
(3) 1250
(4) 1200

Options :

1.8 1

2. % 2

3.% 3

4. ¥ 4

Question Number : 84 Question Id : 7856743625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mraQ sed
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If the sum of two positive integers, each greater than 37 15 296 and if their
GCD 1s 37. then their difference s

2,5.8).63 37 §5) DO e&5c)) O HOPSO Fned0 296 sHOOKN
¢3 (.r.23. 37 @O, ¢3S DGO

() 1
2) 81
3) 74
4) 64

Options :
1. % 1

2. % 2

3.3

4. % 4

Question Number : 85 Question Id : 7856743626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@0 08(e5ed mraQed
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The smallest number to be subtracted from 3000 so that the resulting number s
divisible by 7. 11. and 13 1s

2 EJ5) DOV 3000 OB ST N ST DOYP§ 7. 11 HOO 13
OB A0 2PN0 CDH0E?

(1) 998
@ 975
(3) 963
4) 875

Options :

1.41

2. % 2

3.% 3

4. % 4

Question Number : 86 Question Id : 7856743627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded s ged
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p 2p+q
54+ —5 == = =
+tT— q 2q+p
ﬂ+a
2151
I
(1) 1355
) 2064
" 1355
3) 1848
) 925
@) 516
305
Options :
1.9 1
2. % 2
3. % 3
4. % 4

Question Number : 87 Question Id : 7856743628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged
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(2)

8
9

13

9

k) 14

9

@ 17
9

Question Number : 88 Question Id : 7856743629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged

L
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: 23 14 31 43
Ascendingorderof a=—,b=—,c =—and d = —
= 25 15 32 45

a=2p=2c=32560 d =2 0 55 500
25 15 32 45 =

(1) cdbua
2} ba.de

(3) ab,de
4) c¢ad,b

Options :

Question Number : 89 Question Id : 7856743630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08eded s ged
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The largest among the following rational numbers 15
B0 &7¢3eS (5O e9EBAD DO

8 & 3y
13"12"11715

5

D

(1) T

(2) ’

15

8

3 i

(3) 3

9

A

“4) T
Options :
1. % 1
2. % 2
3.% 3
4.9 4

Question Number : 90 Question Id : 7856743631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@0 08(e5ed mraQed
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In a fraction, if the numerator 1s increased by 20% and the denominator 1s
decreased by 20%. then the percentage by which the fraction increased 1s

28 D3)0 OIIDD 20% DO, FTR) 20% SNODSYD, €

£)05106 DHHESO Fehein
(1) 24
2) 30
(3) 48
4) 50
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3.% 3
4. v 4
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The present population of a city 1s 1452000, It is mcreased by 10% each vear
in the last 2 years and by 20% in the last third year. Then the increase in
population of the city during the last three years was

28 HOE (DN Barar 1452000, Héd DO H05$)T°OS (63
90565160 TR Brrer 10% AT, (850 0T ¢ed 90:368 5065 e
N BT 20% DON0O. D e reh 058 1TOS e

N0 BereS DAMHEO
(1) 380000
(2) 412000
(3) 424000
(4) 452000
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A real estate agent sold two properties A and B each for Rs.391 lakhs. On the
first deal A he makes a profit if 15% and on the other B a loss of 15%. What 1s
the final outcome of this transaction?

28 00O JNE 50 A HOOH B &9 DO )OO 2,873,863
. 391 ©F 0% @D, JNAET™ A @580 2 15% €70 O
DOBO 0N B @080 D 15% ) 0B, @080
H535750 & BOG HOSDMN.?

(1) Profitof5% 5% €r350
(2)  Lossof 5% 5% 9020
() Lossof225%  2.25% cdal0

4)  Profitof225%  2.25% €750
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1. % 1
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3.¥3

4, % 4
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When the prices of onions were reduced by 20%, a person could buy 10 kgs
more for Rs.1000. What was the original price of onions per kg?(in rupees)

&OHGO PO 20% SNODINCD, 28 3588 38 ey Gr.1000

©8) @3S0 10 &[T, & HEeNN) 00T, GG SNoTHE
00, 811, &GO &6 (Br.o8)
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Two persons P and Q started a business with mvestments in the ratio 4 : 5
respectively. After 10 months, Q left the busmess. After 5 more months P left
the business and R joined it by investing Rs.64000 more than P’s investment.
If at the end of 20 months, the respective ratio between the profit share of P to
that of Q and R together 1s 2 : 3. then the investment of P and Q together (
Rupees ) is

QOB Hsen P HBAN Qen 28 TErorR) ST 0
VDO AANB 4: 5 & [PE0DOND. 10 TOO) edNared es
TR0 QIO IFe. DO 5 TOO Gaared P AT F5aroeR)
DEGEDHTE T AHANOS R eSS P BNE), DEDVAEN)
8. 64000 F05T DEPDEA NE FETE0S |HFFOT. 20 FOO©
DSBS 7250 ¢ P Th0g) arer § HO0M Q, R © aldD erere)
J0B0 K (10 AANS 2 : 3 ®OS, P HON Q BOD H:He
REDAEO IS0 (Gr.oS)

(1) 128000
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(4) 164000
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3.3
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P.Q.R started a business with investments in the ratio 5 : 4 : 6. After 6 months
P added 20% more than the initial investment and at the same time R withdrew
half of the mnutial investment. If the profit share of Q is Rs.11400, then the profit
at the end of the vear (in rupees) is

P.Q.R 0 2.8 F5r0) 51 416 DEVAEO DS (FFE0D0N6.
6 TOO SDHTS P ded IS VA DES TrRES)20%
NI B TR, T o7 IH0HOS R Sensd
VEPDAE TR, SRN0TPOONTTD. D0 T°06 7250 Q
TEF GF.11400 @900, 03 \TP0SerZ0 (5.0

(1) 39150
2) 39250
3) 39400
4) 39900

Options :
1. % 1
2. % 2

3.# 3

4.¥ 4

Question Number : 96 Question Id : 7856743637 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator :

: N.A Think Time : N.A Minimum Instruction Time : 0 gcollegedunias



Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@08 eded fraQ ged

Two pipes A and B independently can fill a cistern in 6 hours and 8 hours
respectively. If both A and B are opened together, then the time it takes to fill

the cistern completely 15

BOC TEFeN A HOOKN BEN AR 28 $¢3 Q ST 6 foeren
0050 8 H0OES’ A0 (os). DO PO 2,570 BOW &8 SE3
PO QOCEIZN LY HOHO

(1) fo. 4% hours

2) ffo. Jﬁ hours

3) fo. 3% hours

l m
4 fo. 3? hours

Options :
1. %1

2. % 2
3.4 3

4. % 4

Question Number : 97 Question Id : 7856743638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0 gﬁol'[esg?ﬁluw']'?m



I. Arithmetical Ability
20 05eded DO ged

Pipes A and B can fill a tank in 20 min. and 30 min. respectively. A drain pipe
C can empty the full tank in 15 min. Pipes A, B and C are opened alternatively
each for 1 minute in that order. The time (in minutes) taken to fill the tank 1s

2.8 S63 2 DO DN A SHOO) B 0 SET 20, 30 AT
0 (0. 2.8 57D TOM ) C 9O 0T &) ©T SE3
2ADTOS’ g8 TOHAOD. A, B 00 € O &3 (50
DSPOBGEOMT 2.8 T°Q) DT 2.8 TR 28 AaDN0 38 ) BRI
&3 63 DODEB HEY HDDANO (R.OS)

(1
2
3

(4

e oe—

)
)
) 167
)

Options :
1. % 1

2.8 2

3.43

4, % 4
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Two trains A and B start from a station P at 8 am and 10 am and travel at speeds
of 50 kmph and 70 kmph respectively. After how many kilo meters from P will
they meet ?

D0 B0Y A SHO0M BEN 2,3 VAR P D0 G &. 8 0. ,
S0 &. 10 §0. ©F 20HED TO @) SAIT Hoer% 508.).
0050 70 §.00. 0S |HATEINTYON. P oG 2OHENTOS
2 86 NI BT eh €99) ENNEI0EFON?

1) 350
(2) 360
(3) 380
(4) 400

Options:

1.9 1

2. % 2

3. % 3

4. % 4
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A boat can cover 54 km i still water in 6 hours. It can cover 210 km upstream
and the same distance in down stream in a total of 48 hours. Then the difference
of times taken by the boat to cover 72 km upstream and to cover 63 km down
stream (1n hours) 1s

&S o ASS ad HdS 54850, Sro) 6 Hoved &y
DO, 210 8. (NFFITHM™, HOAN (HTT OFS
[DOITEI0 FNTR)48 H0OS @0 FFOTANHORD. ) & NS
D8 DG 728.80. (DOTPES0HEZINEY DDOHO SO
P> OFS 63 8.0, CPG0 (DOTEIOHOF LY 0NN
2650 (o)

1) 25
2) 30
3) 36
4) 48

Options :
1. % 1
2. % 2
3.3

4. % 4
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Three workers A, B and C can together complete a work in 10 days. After
working together for 4 days A leaves and B and C complete the work in 10
more days. If A works alone, how many days will he take to complete the
work?

S0 $3550e0 A, B, € 00 MHET 02 2,8 HA 100206 250
BaHOD TBE0SEr EOR Tenth Bzren HADFE A SOO IFym
D HA B HO0HY CeN EO T HO FarereSayrd IR0, A
28,3 8 H T GOV, 8 I IV F2OS {FGon &oB6?

1) 30

n

-

——

3
(4

—

)
y 25
)

Options :
1. % 1
2. % 2
3.¥3

4. % 4
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I. Arithmetical Ability
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A cerfain number of women can complete a piece of work m 70 days. If there
werel2 women more. the work could be finished i 15 days less. Then the
number of women origmally there 1s

T0S000 (A 28 S Tos ) 1000S 50
TODHOD. 985 12 HOO [NED ST GO &) oS, &
HAD 15 Baren B85S FOTORKOTTR. D ErE0Hod
SR &) N8 HOR

(1) 24

2) 36

3) 44

(4) 48

Options:
1. % 1

2.8 2
3.¥ 3

4. % 4

Question Number : 102 Question Id : 7856743643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I. Arithmetical Ability
@ 08eded mranQged

L
gcollegedunlas
India’s largest Student Review Platform



A circular park is of 60 m i diameter. A three meter wide walking track 1s
prepared around and outside its perimeter. What is the area of the track

(in sq. m.)

2,8 39TSO 8}, AEY, 500 60 Q. al0) HET BN s
DY AB & I3 TR V)0 G0A. &8 SrPo T
37050 (5.0

(1)
(2)
3)
S

180m
188m
189m

201m

Options :

1.8 1

2.8 2

3.+3

4, w4
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The length of one diagonal of a thombus 1s 80 cm and its side 15 41 cm. What
is the length (in cm) of the other diagonal ?

28 O HeddB0 28 DEYO 80 0.oD. OO T B0
410.50. @)¢H TOE DEG0 s (0.9 OF) D0eh ?

18

Options :
1.9 1
2. % 2
3.% 3

4. % 4
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A rectangular sheet of metal of dimensions of 12m x 6 m 1s rolled to form a
cylinder with larger side as its base. The volume of the cylinder in cu.m. 1s

1260. X6 a0. TOS) (0 2.8 AY SIS SRTT S S 675 TLID eded
0T 2,8 APHOMT DHODD. 95)CD TR & NOATEO (5. 70.0).

o)
(1j =8
i
2) 216
n
(3) 118
m
W %8
T
Options :
1. % 1
2.¥ 2
3. % 3
4. % 4
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If the surface area of a sphere is 5544 cm’. Then the volume of the sphere in
cubic centimetres 1s (take 1= 22/7)

2.8 %50 T308) ED0E) FT050 5544 15.20.00). @ONR) (L, &
85 2005 HOSPRO0 (0.20.5. OF) (1 = 22/7 TP BDEDAN.)

(1) 38887
(2) 38708
(3) 37808
(4) 38808
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1. % 1

2. % 2

3. % 3

4. v 4
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A room has a square base and 1s of height 4 meters. If the area of the four walls
15 128 sq. m., then the number of square files of side one meter required to cover
the floor 15

28 1160 BNE), O IRGTE0S GOGLD T8 ) 4 . T
&00. & O TreN e IF50 128 3. . ®ONB, 2.8 HOD

ZHBOT (0 IDOTE) BO) & TO JGITIE FHONS

O ) 0P DOEH ?
1) 128
(2) 116
(3) 96
4) o4
Options:
1. % 1
2. % 2
3.% 3
4.4 4
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A tent in the shape of a cone 1s to be erected having a base of 154 sq.m and a
height of 24 m. The cost of the canvas required at the rate of Rs.1000 per sq.m.
to make the tent (in rupees) 1s

24 3. D), BPFTOL0 154 .00, &) 2.8 509059 &FE0S 2.8
Do) 06O &0D. 28 .. K HE o Er. 1000 HAK)
&THIENOT, € HIFPTR) DT )EN DOHFTAETD; P (Br.0)

(1) 550000
(2) 500000
(3) 480000
(4) 450000
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1.9 1
2. % 2
3. % 3

4. % 4
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A solid metal sphere of 12 cm diameter 15 melted and cast mto a cylindrical
wire of diameter 4 mm. Then the length of the wire (in meters) 1

12 0.8, 00 60 28 D Sam) Ford) S0N0D 4 ..
STEOM (1) 2,8 0T 8¥eh R0, e9:)ch &3 & Fchs) (. O

1) 70
@ 7
3) 76
@ 78
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Let A and B denote the following bmary numbers.
A=10011011, and B = 111011,

Then the decimal equivalent of A+ B =

A=10011011, , B=111011, &) B0 OII0FFESTI0S D
DOV AB ) @NSOR. @), 3T0F SrS0 ¢S A+B =

(1) 216

Options :
1. % 1

2.8 2

3.3

4. % 4
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[f245=k (mod 13), thenk =

245 =k (mod 13) @0ONAYCD, k=

1) 5

oy i
3) 13
@ 12
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2.¥ 2
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If a set has 7 elements, then the number of subsets of A with at [east 2 elements
18

DT NS A, 7 OTOTEN) Y, FNN0 DO SHrOTeN
§ON A O30E), Gra) oDERO HOPS

(1) 64

@ 78

3) 99

@) 120
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Let A and B be any two sets with i and » elements. If A has 192 more subsets,
than B. then m +n =

A, B ) SO m, n SQrOTE) (O JuQ DO Aadeen
e9NE0G B §07) AR 192 &3 AN 803 3T &0, m + 11 =
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1. % 1
2. % 2

3. 3

4.4 4
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If o and P are the zeros of the quadratic polynonual

x2 — 7x 4+ 12, then (a® 4+ ) (a - P) =

DVAO x2 —Tx + 12 T5eD @, wowd®, (o +p*)(a—p) =

1 25
(2) 36
(3) 49
4 125
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1.9 1

2. % 2

3. % 3

4, % 4
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Ifx—£=5,thenx“+i4=
X X

X —2=50008, ' +—=
X ¥

(1)

727
627
527

121

Options :
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If the polynomial 2x* + 3x* + ax + b when divided by (x — 2) and
(x + 2) leaves the remainders 2 and -2 respectively, then (a,b) =

DDA 2x3 + 3x% +ax + b & (x - 2) DO (x + 2) O A0
) BTN SN 2 SHO0KN -2 0N, (a, b) =

(1)
(2)
(3)
(4)

(7,12)
(12,7)
(-7,-12)
(-12.-7)
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1.8 1

2. % 2

3.+3

4, % 4
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If the remainders of the polynomial f(x) when divided by (x — 1) and
(x —2) are 2 and 3 respectively, then the remainder when {(x) is divided by
(x-1)(x—-2)1s

25 050N f(x) & (x— 1) BN (x—2) OT 2PN S Baren
AR 2 HO0 3 OB, f(x) D (x—1)(x—2) B AR S)
300

() x+2
Q) 2x+1
(3) x-1
4 x+1
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A rational number is such that when we multiply the numerator by 2 and added
2 to the denominator 1t becomes 3 moreover. if we add 9 to the numerator and

; ; gl 3 : i
multiply the denominator by 3 it becomes T Then that rational number is

2.8 80D D0 OS50 2 & HEJoD FE0 ) 2 5008 e
0P 3 @0 OO O30 9 O FH0 & 3 & M. e

530&}3;% 95900, ). & SBEI0H DOY;

m 9
8
(@ 27
16
(3) 45
24
(4) 36
17
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1. % 1
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A sum of Rs.900 is distributed among 3 persons. P. Q. R such that Q gets Rs.45
more than R and P gets Rs.30 less than R. Then the amount P gets. in rupees.
15

3. 900 IR SNMHG 350eD P, Q, R ©F) R §°) Q S 645
D30)00 HOO R §T°) P 50 G, 30 8038 D)L Do
29 PR ST) 0o ((r.0F)

(1) 315
2) 295
3) 265
4) 245

Options :
1. % 1

2.8 2

3.3

4. % 4
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If the roots of x2 + 6x — 27 = 0 are a and B, then a® + B3 =

x? + 6% — 27 = 0 O30, Sureren a ,p oS, ad + B2 =

1) 712
2) -700
3) 102
) 702

Options :
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The sum of first 10 terms in an arithmetic progression 1s 20 and the sum of first
20 terms is 10. then the 8 term in that progression is

2,8 905 3¢ 0563 10 50 F0H0 20, FNEES 20 DT Fedo
10 900, & (3AS’ 859 HE0

——
[
p—

“n

—
i
e
NS % B &y B Y =

Options :
1. % 1
2. % 2

3.# 3

4.¥ 4
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If the sum of an mfinite Geometric Progression 1s 23 and the sum of the squares
of 1ts terms 15 69, then the common ratio is

2.8 @306 (069 (30 DT FnB0 23 HO0N TAS R IO HTO
VB0 69 9ONB, APITAS Aa))e

(1) 15
13
(2) 10
13
(3) 23
26
4 25
26
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3.% 3
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cotd +tanf =2 = cosf =

' 1
Q 1
V3
2 1
@ 1
2
1
¢ 1
V2
“4) V3
i_
2
Options :
1. % 1
2. % 2
3.3
4. % 4
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A+B+C=nm=tanA +tanB+tanC =

s O]

2) tanA tanB +tanBtanC + tanCtan A
(3) tan (A+B+0)

(4) tanAtanB tanC

Options :
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k%+1
sec0+ tanf =k = =l
(1) tan®
(2) cotB

(3) cosec 6

(4) secH
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Options :
1. % 1

2.8 2
3.¥3

4, % 4
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From a distance of 60 m on the level ground. the angle of elevation of the top
of a building is 45° and the angle of elevation of the top of a flagstaff which is
situated on the top of the building is 60°, then the length of the flagstaff. in
meters, 1

2900 ) 2,8 BOT V0250 )0A. §e323 DaIr0e B0 D 2.8 DoY)
08 60 Q. BrEAN &S o) BIS0 3 2y 80 S0 45° TP,

5900 DY o Bow V0Po D T Qs §00 60° My
&3 L0NB, BOT WO &F) (0.0

)6
(1) 120
(2 60(V3+1)
(3) 180

@ 60(3-1)

Options: .
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3.# 3

4.4 4
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In a triangle ABC, AB=35cm. BC=6 cmand CA =7 cm. then the length of
the median AD. m cm. 13

2,8 |892980 ABC S AB=50.00..BC =6 0.5, OO
CA= 7 0.Q)., @S, NESHed0 AD T30E) SPse) (R0.a0. O')

D 7

@ 247
() 37
@ 47

Options :
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2.9¥2
3.% 3

4. % 4
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Ina triangle ABC. AB=6 cm. BC=7 cmand AC =11 cm. IfAD is the altitude
from A to the side BC. then the length of BD. m cm. 13

2.8 H2020 ABC S, AB=60.60.,BC=7 0., HOOH AC=11
0.00. 290 A DO BC § &) ed AD @00d:) )¢, BD &ree)

(20.9.06)
1) 3
@ 18
7
@)
4 22
7
Options :
1. % 1
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II. Algebraic and Geometrical Ability
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If the lengths of the diagonals of a thombus are 48cm and 14cm. then the
perimeter of the thombus, m cm. 1s

2,8 03 HeE) 20 TH0E) DETO SreSHen 48 0., HOCKY 14
0.00). 0N, €3 ek TIERE)20 TRNE), tHEY TOS(0.00.06)

1) 25
2) 26
3) 100
4) 104

Options :
1. % 1

2. % 2

3.3

4. % 4
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If the lengths of the two parallel sides of a trapezium are 18 ¢cm and 12 ¢m and
its area is 103 cm?, then the distance between the parallel sides, in cm, 1s

2,8 0002 TIeB)20 O30E) DO DIr0eS 2here) ertis)en
18 0.00). SDOGD 12 V0.0, HOOM TR FF50 105 13.0.00.
0B, 8 BO AIP0sE Zhere) NS Grdo (R0.0.06)

(1)
2
3

)
)
(4)

9

Options:

1. 8 1

2.8 2

3.+3

4. % 4
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If the radii of two circles are 6 cm and 18 cm and the distance between their
centres 15 9 cm. then the number of common tangents that can be drawn to the
two circles 1s

DO YO aPSPTEN 6 V0.0D. 18 0.0, DO a¢3 o
5 P09 0.00. @ONS, @)D & DO SHT0H NoHaR
a8 )8 BDO Do

(1) 4

(2)
3) 1
4 0

[ ]

Options :
1. % 1
2. % 2

3.# 3

4.4 4

Question Number : 132 Question Id : 7856743673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

II. Algebraic and Geometrical Ability
52805, 2B aDH ardPsed

L
gcollegedunlas
India’s largest Student Review Platform



A chord of length 8 cm of a circle subtends an angle 30° at a point on the
circumference of the circle. Then the length of the diameter of the circle. n cm,
15

8 0.0, &PC8s) (50) 2.8 o905 275, €8 o )e DOA D) &) 28
D06 3G 30° 510 DAY, €8 63 P30 &FCSed

—

) 8

4

2)
3 16
H 20

12

-

A

(
(
(
(

Options :
1. % 1

2.8 2

3.3

4. % 4
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If A(5,2);B(6,—15); C(0,0) are the vertices of A ABC. then A ABC is

A ABC G308} 3370 A(5,2); B(6,—15); C(0,0) @900, A ABC

900 28

1) right angled

(

(2)  equilateral
(3)  isosceles

(

4)  right angled isosceles

Options :
1.9 1
2. % 2
3.% 3

4, % 4

90285 (832020

DeheTaTv (32080

oA ST (832030
©0DTED DDA S2PeT0 (S2HB0
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What 1s the ratio m which the y-axis divides the line segment joining the points
A(12.-3) and B(3. 6) ?

20NHON A(12, -3) SO0 B(3. 6) ©cd $OD TP POTR) v 5.0
DPB0T AR Dade3 ?

Options:
1. % 1
2. % 2

3. 3

4.4 4
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The ratio in which y-axis divides the line joining the points
A(—4,5)and B(3,-2) 15

A(-4,5),B(3,-2) ® Doy §DD DD y-050 280D

A3
(1) 3:4
(2) 4:3
@ 52
4 2:5
Options :
1. % 1
2.9 2
3. % 3
4. % 4
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The equation of the line passing through the points A(2, 1) and B(4. 5) 1s
A2, 1), B4, 5) 0chsye How 8 8% DE® dahseo

1) y=2¢-3

(2) y=4x+5

3) y=2x+1
4) y=2x+3

Options :
1.9 1
2. % 2
3. % 3

4. % 4
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The sum of x and y mtercepts of the line 7x + 4y = 56 15

7x + 4y = 56 ©D 09 x DO ¥ 950 80D @908 HOTE)
AW

1O 11

3 2
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The equation of the straight line which is inclined at an angle of 120° to the
positive X-axis and makes y-intercept of 7 units 1s

X-(5¢ @50 & 120° 520 TR 7 00T
Y-2063 00 ) 8 )0B0% Dgr 08080
1 VBy+x+7=0
2 y+v3x-7=0
B) y—V3x+7=0
4 —V3y+x+7=0

Options :
1. % 1
2.¥ 2
3.% 3

4. % 4
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If the line y = mx + c 1s the perpendicular bisector of the line segment
T

joining the points A(4,—7) and B(-2,1), then ?n=

A(4,-7) SHOOM B(=2,1), @3 20O §) DI PO
©02) DA FHOBD DY y = mx + ¢ @I ). ~ =

Options:
1. % 1

2.8 2
3.3

4, % 4
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If the equation of lime joining (2. 1) and (-4, -5) 1s ax + by + ¢ = 0, then
a+b=

(2, 1) DO (-4, -3) O O DG TP DaDEBE0
ax+by+c=0 @ONS. a+b=
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The mean of the following 50 observations is
13,5799

& 1800 50 HOFOG® 08 300

1.3.5.7,..99
(1) o4
() 56
(3) 50
4) 48
Options:
1. % 1
2. % 2
3.3
4, % 4

Question Number : 142 Question Id : 7856743683 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I1I. Statistical Ability
PO §ET° R PN QS ed

L
gcollegedunlas
India’s largest Student Review Platform



The Mean of 6 observations is 40. If one observation i1s excluded. then the mean
of the remaining 5 observations becomes 39. the excluded observation is

6 0O 908 SDCIEN0 40. 2,8 HOFOND MSFON W, e 3
N0 @08 sDE N0 39. €8 WATFONODS HOFO.

1) 25
@) 35
(3) 45
4) 40

Options :
1. % 1
2. % 2
3.3

4. % 4
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The arithmetic mean of 24. 4. 12. 8. 36. 48. 20. 16, 28. 32. 40 and k is 26.
Thenk=

24. 4,12, 8,36.48, 20. 16, 28. 32, 40 D00 k © @08 DEN0 26
GO, k=
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Let A ={a,b,a+b,a—4b,ab,2b}. Ifb > 6 and the mean of the set is
b + 3. then the median 1s

A ={ab,a+ba—4b,ab2b}. b>6 OGN Doded A TN,
290806500 b + 3 wonsned, e DDA D SiB0

(1) 2b+3
@ b+3
(3) b+6
@) b+9

Options :
1. % 1
2.¥2
3. % 3

4, % 4
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The median of a data contains 33 observations 1s 71. If another 4 observations
08. 89. 63. 36 are mcluded 1n the data the median of this new data 1s

33 HOFOIOD EE) &) OBPOFY S5 Heded) 71. ROET 98, 89.
63,36 % 0 TV HOIOIOD & T 0TAE TO )Y D
DB &P ST DS

(1)
(2)
(3)
(4)

74
71
69
65

Options :

1. 1

2.¥ 2

3.# 3

4. % 4
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Four entries are added to the data 5, 28. 15, 10, 135. 8. 24. If there is no change

in the arithmetic mean and median but its mode s increased by 1, then the four
entries (quantities) that are added to the original data are

5,28, 15, 10. 15. 8. 24 @ OB0T0NE 4 0O eSS0
DEE0  BON0E. ©0ENGIN0 SO0  NEsHB0 O
SPANBINIBE rVFE0 NI 1 DOAND. A FAB

GF0F30550 @SSO TE A H0FOSEN

() 10.12.12,12
(2) 11,1414, 14
(3) 12,16,16,16
gy 13 17 17 17

Options :

1. % 1

2. % 2

3.3

4, % 4
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The mode of the following frequency distribution 1s nearly

&2 1500 T30) 08 2rBIa) FTVFE0 e O

Family sze 1-3|3-5|5-7|7-9 |9-11
80002 0070
Number of families
y 9 10 4 4 3
S0EN02r HOYPS
(1) 348
2) 3.29
3) 3.12
4) 296
Options:
1. 8 1
2.9 2
3.8 3
4, % 4
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If a card 1s selected from a deck of 52 cards. then the probability of it being a
red faced card is

52 508200 $ONS W §6) DoY) 2,8 TN 0T DN, @O
D) B0 SNPO OO TS D0 e

3
1) 7
3
2 T3
2
¥ 713
1
4 3
Options :
1.1
2. % 2
3.% 3
4. % 4
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Two dice are thrown once, what is the probability of getting a total of 10 on the
faces 13

BO ard¥ON 2,330 A0S TFDEO SNIFOD &) @05
00 10 0D LIS H02Te§es

(1) 10
36
@ 7
36
6 4
36
4 3
36
Options :
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A bag contains 4 white and 6 black balls. What 1s the probability of drawing
two balls m succession without replacement so that the first ball 1s white and
the second 1s black?

28 D0DS 4 B0 HO0M 6 SO D0EN E0Y. DO
20O B TEINOT, 2.8 T S 2,563 SR Fnced

208 BONO DO TOKS 208 SOAD ©OD; AN
Q0T ed

n 4
15
2 b
15
(3) 10
15
4 12
15
Options :
1.1
2. % 2
3. % 3
4. % 4
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Disregard for other people 1s
(1) respect
(2 callousness

(3) 1insult

(4) concern

Options :

4, % 4
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:N.A Think Time : N.A Minimum Instruction Time : 0
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Part 1: Meanings (sentences with dashes)

Persuade by flattery or coaxing

(1)
(2)
3)
(4)

cajole
caress
threaten

warn

Options:
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One who rules the country by force

(1)
2)
3)
(4)

democrat
demagogue
bureaucrat

dictator
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Options :
1. % 1

2. % 2
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Kindness or generosify in bestowing gifts or money 1s

(1) largesse
(2)  stinginess
(3) largeness

(4) smallness
Options:
1.9 1
2. % 2

3. 3
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Part 1: Meanings (sentences with dashes)

To look at something quickly and secretly, especially through a small opening :

(1) spy
(2)  probe

(3) peep
(4) espy

Options:

Sub-Section Number : 2
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The most appropriate synonym of ‘emulate’

(1)  surpass
(2)  mimic
(3) inflate
(4) augment

Options :

Question Number : 157 Question Id : 7856743698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The most appropriate synonym of ‘stentorian’

(1) thunderous
(2) pleasing
(3) musical

(4)  gratifymg

Options :
1.9 1

2. % 2
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4. % 4

Question Number : 158 Question Id : 7856743699 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The most appropriate antonym of ‘exude’

(1) exclude
(2)  refuse

(3) conceal
(4) display

Options:

1. % 1

Question Number : 159 Question Id : 7856743700 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms
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The most appropriate antonym of word “urbane’

(1)  sophisticated
(2) uncouth

(3) poised

(4) rural

Options :
1. % 1

2. 2

Question Number : 160 Question Id : 7856743701 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 2: Synonyms and Antonyms

The most appropnate antonym of the word ‘conducive’

(1)  productive
(2)  competent

(3) adverse

(4)  fruitful
Options:
1. % 1
2. % 2
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3.3

4. % 4

Sub-Section Number : 3
Sub-Section Id : 785674407
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 161 Question Id : 7856743702 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

By the time the boy entered the classroom, others

(1) leave
(2)  have left
(3)  will have left

(4)  were leaving

Options :
1. % 1

2. % 2

Question Number : 162 Question Id : 7856743703 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : -

:N.A Think Time : N.A Minimum Instruction Time: 0 gcollegeduniag



Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

English  1nmany countries in the world.
(1) was speaking
(2) spoken
(3) 1sspoken
(4)  had been spoken

Options :

Question Number : 163 Question Id : 7856743704 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

The mumster for New Delhi yesterday.
(1) left
(2)  hasleft
(3) Has been left
(4)  had been left
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Options :
1.9 1
2. % 2
3. % 3

4, % 4

Question Number : 164 Question Id : 7856743705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 3: Verb (Tense & Voice)

The old man here for many years now.

(1)  had lived
(2) lived
(3) was hiving

(4)  has lived

Options:

1. % 1

Question Number : 165 Question Id : 7856743706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 gcollegeduniag



Part 3: Verb (Tense & Voice)

The boy gave a surprise to his father

(Change the voice)

1)  The father received a surpnse from his boy.

The father had received a surprise.

Ll
e

The father was given a surprise by the boy.

Ko — — —
-2
S

4)  The father was being given a surprise by the boy.

Options :

Sub-Section Number : 4
Sub-Section Id : 785674408
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 166 Question Id : 7856743707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms
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I can testify his honesty.

(D
2
3)
4

Options :

for
to
on

upon

Question Number : 167 Question Id : 7856743708 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

My grandfather 1s hard

(1) on
(2 at
(3) of
(4) off
Options :
1. % 1
2. % 2

hearing.
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Question Number : 168 Question Id : 7856743709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

He jumped the opportunity of gomg abroad.

(1) at

(2 on
(3) for
(4) oft

Options :

1.1

Question Number : 169 Question Id : 7856743710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms
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After retirement, he became a couch potato. The underlined 1diom means

(1)  an active person
(2)  ahefty person
(3) aweak person
(4) alazy person

Options :
1. % 1

2.8 2

Question Number : 170 Question Id : 7856743711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Part 4: Phrasal Verbs & Idioms

You have to think big 1f you want to achieve anything. The underlined idiom means

(1)  thmnk too much
(2)  have ambitious plans
(3) think calmly

(4)  consider modest plans

Options :
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3. 3

4. % 4

Sub-Section Number : 5
Sub-Section Id : 785674409
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 171 Question Id : 7856743712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

Kalidasa 15 Shakespeare of India.
(1) a
(2) the
(3) an
(4) one
Options :
1. % 1
2.9 2
3. % 3
4, % 4

Question Number : 172 Question Id : 7856743713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 gcollegeduniaé



Part 5: Articles & Prepositions

I saw an old man near bus stop.

(1)
(2)
(3)
(4)

our

the

Options :

Question Number : 173 Question Id : 7856743714 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

As he did not pay the dues, the electricity has beencut

(1) up

(2) of

(3) out

(4) off
Options :
1.8 1
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Question Number : 174 Question Id : 7856743715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions

Our company 15 nOw a firm footmg.
(1) 1
(2) on
(3) nto
(4) at
Options:
1. % 1
2.¥ 2
3. % 3
4. % 4

Question Number : 175 Question Id : 7856743716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Part 5: Articles & Prepositions
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Gulliver’s Travels 15 a book children.

(1) for
(2) of
(3) to

(4)  upon

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

6
785674410
Yes

null

Question Number : 176 Question Id : 7856743717 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

We use the rules of encrypted to ex-change files over the mternet.
(1) FTPIP
(2) Hyperlnk
(3) HIML
(4) HTTP
Options :
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Question Number : 177 Question Id : 7856743718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology
World Wide Web was invented by ;

(1)  Tim Berners-Lee

(2 Vinton Gray Cerf
(3)  Charles Babbage

(4) Robert Kahn

Options :
1.9 1
2. % 2

3.# 3

Question Number : 178 Question Id : 7856743719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Part 6: Computer Terminology

A piece of data that 1s stored within a web-browser and refrieved at a later fime 15 called a

(1) Bug
(2) Cooke
(3) Hyperlink

(4)  Hyperloop

Options:

Question Number : 179 Question Id : 7856743720 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

DNS is the short form of

(1)  Disk Numbering System
(2)  Data Number Sequence
(3)  Domain Name System

(4) Digital Network Service

Options:
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Question Number : 180 Question Id : 7856743721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 6: Computer Terminology

Which one of the following serves as a reference pomt that connects a particular page to other

pages on the web page?

(1) Reference
(2) Web link
(3) Referral code
(4) Hyperlink

Options :

4.9 4

Sub-Section Number : 7
Sub-Section Id : 785674411
Question Shuffling Allowed : Yes

Is Section Default? : null
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Question Number : 181 Question Id : 7856743722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology
Making a list of a company’s physical assets 1s known as

(1)  background check
(2) filng
(3) inventory

(4)  credit check

Options :

Question Number : 182 Question Id : 7856743723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology
A contract that prohibits an employee from switching fo a competing company s called

(1)  mception option.
(2)  business conduct manual.
(3) non-compete agreement.
(4)  paralegal clause.
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Options :

1. % 1

Question Number : 183 Question Id : 7856743724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology
A company’s positive resources are considered as

(1) assets.
(2)  lhabilities.
(3)  contracts.

(4)  working capital

Options :

Question Number : 184 Question Id : 7856743725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0 .
collegedunia:s



Part 7: Business Terminology

The movement of finished goods from production to the customer 1s

(1)  physcal supply
(2)  physical distribution
(3)  supply cham

(4)  conversion cycle

Options :
1. % 1
2.¥ 2

3.# 3

Question Number : 185 Question Id : 7856743726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 7: Business Terminology

Individual ownership s called

(1)  Cooperative society.

(2)  Joint trade agreement.
(3)  Partnership management.
(4)  Sole proprietorship.

Options :
1. % 1
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3. % 3

4.¥ 4

Sub-Section Number : 8
Sub-Section Id : 785674412
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 7856743727 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (186 to 190)

Part 8: Comprehension

Freedom and power bring responstbility. The responsibility rests upon this assembly,
a sovereign body representing the sovereign people of India. Before the birth of freedom, we
have endured all the pains of labour and our hearts are heavy with the memory of this sorrow.

That fufure 15 not one of ease of resting but of incessant striving so that we may fulfil
the pledges we have so often taken and the one we shall take today. The service of India means
the service of the nullions who suffer. It means the ending of poverty and 1gnorance and disease
and mequalify of opportumify.

The ambition of the greatest man of our generation has been to wipe every tear from
every eye. That may be beyond us, but as long as there are tears and suffering, so long our work
will not be over.

And so, we have to labour and to work, and work hard, to give reality to our dreams.
Those dreams are for India, but they are also for the world, for all the nations and peoples are
too closely knit together today for anyone of them to imagine that 1t can live apart. ..

To the people of India. whose representatives we are, we make an appeal to join us with
farth and confidence 1n this great adventure. Thus 1s no tune for pretty and destructive criticism,
no time for 1ll-will or blaming others. We have to build the nobble mansion of free India where
all her clildren may dwell.

Sub questions

Question Number : 186 Question Id : 7856743728 Question Type : MCQ (
gcollegedunlas

Display Question Number : Yes Is Question Mandatory : No Calculator :



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

What 15 the ‘Sovereign body representing the sovereign people of India’ referred to mn the

passage?

(1)  The Parliament of India.

(2)  The Assembly of a state.

(3)  The Constituent Assembly of India
(4)  The Constitution of India.

Question Number : 187 Question Id : 7856743729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

According to the speaker, India means

(1)  1its geographical boundaries.
(2)  1ts members of parliament.
(3)  1ts leaders.

(4)  1ts people.
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Options :
1. % 1

2. % 2

Question Number : 188 Question Id : 7856743730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The speaker dreams of better future for

(1) India only
(2)  the countries other than India only.
(3) India and the world.

(4)  the leaders representing India.

Options :

1. % 1

Question Number : 189 Question Id : 7856743731 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Resnonse Time

:N.A Think Time : N.A Minimum Instruction Time : 0 .
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Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The speaker 1s agamst

(1)  crticism of any kind.
(2)  healthy criticism.
(3)  unhealthy crificism.

(4) constructive criticism.

Options :

Question Number : 190 Question Id : 7856743732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The tone of the passage 1s

(1)  sorrowful
(2)  1romic.

(3)  1dealistic.

(4)  light-hearted.

Options : ;
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1. 1

2. % 2

3.9 3

4. % 4

Sub-Section Number : 9
Sub-Section Id : 785674413
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 7856743733 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (191 to 195)

Part 8: Comprehension

The most frightening aspect of malnutrition 15 that it 1s likely to cause permanent
damage to the bram. Expenments carried out on ammals suggest that brain damage due to
malnutnition 1s irreversible. This may not be true of human bemngs. Nevertheless, known facts
as well as results of tests conducted so far pomt to alarmmg conclusions. The human brain
orows very fast. Three months before its birth, the cluld’s brain weighs one-fourth of the adult’s
bram. In one year, the bram of the cluld 1s already 66 percent of the weight of the adult brain.
At four years, the brain weighs 90 per cent and at eight the child’s brain 15 the s1ze of an adult’s
and there is no further increase. Quite obviously, the first four years are crucial for the
development of the brain. And if the child suffers from malnutrition, the damage to the brain
may well be permanent.

Thanks to the systematic research of the National Institute of Nutrition, Hyderabad, we
are able to address at least some aspects of the problem of malnutrition m tlis country. For
instance, it was found that the addition of 10dine m the lake-water salt consumed in the Sub-
Himalayan region would go a long way to controlling goitre. Agam experiments made by the
Institute reveal that mexpensive green leafy vegetables are a good alternative to eggs and butter
as rich source of Vitamin A.

Sub questions
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Question Number : 191 Question Id : 7856743734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

When does the cluld’s brain attain full growth?

(1)  at the age of eighteen.
(2)  at the time of birth itself
(3)  at the age of four.

(4)  at the age of eight.

Options :

Question Number : 192 Question Id : 7856743735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension
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Which period 1s important for the development of human bramn?

(1)

the first four years
infancy

youth

old age

Options :

Question Number : 193 Question Id : 7856743736 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

The reason for brain damage 1s

(1) anger.
(2)  good nourishment.
(3) lack of proper nourishment.
(4)  junk food.
Options :
1. 8 1
2. % 2
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Question Number : 194 Question Id : 7856743737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

Which of the following statements 1s true?

(1) Human bram grows continuously throughout life.
(2)  Brain damage due to malnutrition 1s reversible in animals.
(3)  Bran damage due to malnutrition 15 irreversible in animals.

(4)  Gottre can be controlled by avoiding 10dised salt.

Options :

Question Number : 195 Question Id : 7856743738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension
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“The addition of 10dine in the lake-water salt consumed 1n the sub-Himalayan region would go
a long way to confrolling goitre.

(1)  Takes a long time fo achieve success mn controlling goitre.
(2)  Anmmportant factor in achieving success 15 controlling goitre.

(3)  Travel a long distance 1s controlling goitre.
(4)  Makes 1t quite dafficult to achieve success in controlling gortre.

Options :

Sub-Section Number : 10
Sub-Section Id : 785674414
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 7856743739 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (196 to 200)

Part 8: Comprehension
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The last few years have ushered in a harsh reality where crises are the norm rather than
the exception. Pandenucs, economic slumps and extreme weather events were once tail-end
nisks but all the three have hit South Asia in rapid succession since 2020. This 1s deeply
distressing because the knowledge, skills and health that people accumulate — their human
capital — 15 a cnifical source of the resilience what countries rely on for recovery. Globally,
countries that have systems in place to support individuals and families before a crisis spikes,
can better protect their citizens durmg the crisis. Human development systems must be agile,
restlient and adaptive. Such systems will help countries better respond to future shocks as well.
Crises are unpredictable, and often present rapidly changing circumstances. A well-functioning
system 15 one that can spring info action the moment a shock strikes, ensure essential services
such as health care and learning remain uninterrupted. Since services are provided by different
ndividual sectors, human development systems must be able to coordinate efficiently across
sectors. The road ahead for South Asia 15 rocky. A robust human development system would
not only mufigate the damage but also help ensure lives and livelihoods are protected.

Sub questions

Question Number : 196 Question Id : 7856743740 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

In recent tumes South Asia has experienced

(1)  robust growth in human skills.
(2)  unforeseen upheavals.

(3)  surge in human capital.

(4)  growth in healthcare.
Options :

1

2.¥ 2

. % 3

.® 4
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Question Number : 197 Question Id : 7856743741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

What 1s needed for rapid recovery from a crisis?

(1) human capital
2 political will
(3) econonuc slump

(4) income growth

Options :

Question Number : 198 Question Id : 7856743742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension
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Human development systems must be

(1) protective.
(2 dynamuc.
(3) docile.

(4)  crntical

Options :

Question Number : 199 Question Id : 7856743743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

A functioning system ensures

(1)  passive response.
(2)  frequency of crises.
(3) timely response.

(4) individual mtiative.

Options :

collegedunia:s
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4. % 4

Question Number : 200 Question Id : 7856743744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Part 8: Comprehension

A robust human development system would
(1) 1ncrease the damage
(2 weaken the education sector.

(3)  strengthen the health sector.
(4)  protect the lives and livelithood.

Options :
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